HKDSE Economics in Life
Data-response Question
Suggested answers

Q.30

	Topic:
	The proposed development of the Northern Metropolis

	Relevant economic topics:
	basic economic problems, factors of production, demand and supply, externalities, aggregate demand and aggregate supply, unemployment

	Types of material:
	news excerpt, statistical table, opinions

	Question design:
(total marks: 27 marks)
	Elementary-level questions (16 marks); Advanced-level questions (11 marks)



(a)	‘What to produce’: The government needs to decide what to build on the resumed land (Wetland Conservation Parks). 	(2 marks) 
	‘For whom to produce’: The government needs to decide who can enjoy the Wetland Conservation Parks (the public).	(2 marks)
(b)	Capital.	(1 mark)
The Wetland Conservation Parks are a man-made resource used in providing ecological education and recreational facilities for the public. 	(1 mark)
(c)	The government’s improvement of transportation links in the Northern Metropolis can bring more business opportunities for I&T companies located in the Northern Metropolis. These companies benefit without paying compensation to the government. A positive externality may be involved.	(3 marks)
(d)	Verbal elaboration:
	The development of the Northern Metropolis will lead to an increase in the supply of residential units in the area. At the same time, more job opportunities and a better-established transportation network may attract more people to move into the area, leading to an increase in the demand for residential units in the area. If the increase in demand has a greater effect on the price than the increase in supply, the price of residential units will increase.	 (4 marks)
	

	Illustrate in the diagram:
	- rightward shift of the demand curve	  (1 mark)
	- rightward shift of the supply curve	(1 mark)
	- final equilibrium with a higher price	(1 mark)
Unit price
Quantity

D0

D1
S1
S0
0

P0
P1
Q0
Q1












(e)	Marks award for effective communication (EC: max 2 marks)
	Marks
	Performance

	2
	· Arguments supported with the source/data and appropriate economic theories
· Relevant materials presented
· Well-organised and coherent answers presented without repetition of ideas
· Ideas clearly and fluently expressed with appropriate use of language/words/terms/symbols

	1
	· Arguments presented with some support of the source/data and economic theories
· Some irrelevant materials presented
· Answers presented in a less organised way with some repetition of ideas
· A clear message conveyed with some inappropriate use of language/words/terms/symbols

	0
	· Arguments presented with no support of the source/data and economic theories
· Materials unrelated to the gist of the question presented
· Inconsistent arguments presented
· Limited ideas expressed with inappropriate use of words/terms/symbols


The maximum marks for content is 9 marks. Answers may include the following:
Aggregate output
-	The development of the Northern Metropolis, including constructing infrastructure and increasing land for I&T uses, will help increase Hong Kong’s productive capacity. The long run aggregate supply will increase and the aggregate output will increase.
-	The development of the Northern Metropolis will require a large amount of public funds. Government expenditure will increase and aggregate demand will increase. Aggregate output will increase.

Unemployment rate
-	The Northern Metropolis will greatly increase the land for I&T uses, and the number of jobs in the I&T industry will increase. The demand for labour in the industry will increase.
-	The development of the Northern Metropolis involves the construction of various infrastructure, which can promote the development of different industries, such as construction and logistics. Employment opportunities will increase.
-	If the size of the labour force does not change, with more employment opportunities, it will be easier for people to find jobs. The unemployed population may decrease, which will help lower the unemployment rate.

Other economic variables:
-	The change in the general price level in the long run is uncertain, depending on the change in the relative extents of the increase in aggregate demand and the increase in long run aggregate supply.
-	The development of the Northern Metropolis will increase government expenditure. At the same time, government revenue will also increase (such as revenue from the profits tax and land sales). If the increase in government revenue is higher than the increase in government expenditure, the government’s fiscal balance in the future will be improved. If the increase in government revenue is lower than the increase in government expenditure, the government’s fiscal balance in the future will be worsened.
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